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Introduction



This book has been written for all students of Cambridge IGCSE® and O Level Business Studies. It carefully and precisely follows the syllabus from Cambridge Assessment International Education. It provides the detail and guidance that are needed to support you throughout the course and help you to prepare for your examinations. It will also prove to be of great use to anyone who wants to learn more about the key concepts of business.


This book will prove to be valuable to students of Business Studies whether you are:





•  studying the subject for the first time through your school or college and need a comprehensive and clearly written textbook



•  revising the subject before your examinations and need a study guide to help you with key definitions, techniques and examination advice



•  learning the subject on your own through distance or open learning and need a complete programme of supportive questions, activities and suggested answers to these.





Building on the successful formula of the previous four editions, this fifth edition updates all existing chapters including removing material which is no longer in the syllabus and adds new subject material with additional chapters and new features.




How to use this book


To make your study of Business Studies as rewarding and successful as possible, this Cambridge International endorsed textbook offers the following important features:


Learning objectives


Each chapter starts with an outline of the subject material to be covered and ends with a checklist to confirm what you should have learned and understood.


Organisation


The content is in the same order as the syllabus: chapter titles and chapter section headings match those of the Cambridge IGCSE and O Level Business Studies syllabuses.


Approach


The subject material is written in an informative yet lively way that allows for complete understanding of each topic to be gained.





[image: ]







Exam preparation and technique



Revision


You should be able to perform to the best of your ability if you:





•  ensure that you have worked through all of the activities and examination-style questions in this book



•  revise thoroughly before the examination – allow plenty of time for this and avoid leaving it until the last minute.





You can also help yourself greatly if you take the following steps.





•  Obtain a copy of the syllabus. You should also be able to obtain past examination papers and mark schemes. It is very important that you check the progress of your learning and revision by ‘ticking off’ each topic against the syllabus content.



•  Make sure that you know the number and length of each of the examination papers you will have to sit. The style and nature of the questions often differ between papers so you must be quite clear about the type of questions likely to appear on each paper.





For Cambridge IGCSE® and O Level Business Studies the examination papers are:
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In the examination


Make sure you check the instructions on the question paper, the length of the paper and the number of questions you have to answer. In the case of Cambridge IGCSE® and O Level Business Studies examinations you will have to answer every question as there will be no choice.


Allocate your time sensibly between each question. Every year, good students let themselves down by spending too long on some questions and too little time (or no time at all) on others. You will be expected to spend longer writing an answer to a question worth 12 marks than you would when writing an answer worth 8 marks.


Remember that the most common ‘prompt’ words are ‘identify’, ‘explain’, ‘consider’ and ‘justify’. The following guide should help you.


Key command words you need to know


Define


This is asking you to clearly show the examiner that you know what a term means. A single sentence answer is nearly always sufficient.



Identify


As in ‘Identify two factors that could influence the price of a product.’ Identify means write down, without explanation or discussion, the required number of points.


So the answers to the question above might be:





1  Costs of production.



2  Prices of competitors’ products.





Calculate


As in ‘Using the figures provided, calculate the break-even level of production.’ This means ‘using the figures provided, work out the following’.


Explain


As in ‘Explain two ways in which the hotel could promote its services’.


Here the examiner is asking you to give more detail than just identifying points. Your answer must also be applied to the business in question – in this case, a hotel. So, advertising on TV would not be appropriate for one hotel given the high cost of TV time. A better answer would be:





1  The hotel could contact all guests who have stayed at the hotel before by email to give them details of a special offer.



2  The hotel could also use a colourful and effective website to promote its services to customers who book hotel accommodation online.





Consider


As in ‘Consider whether the car manufacturer should reduce prices to increase demand.’ This is asking you to show advanced skills. The best approach to answer this type of question is to explain the advantages and disadvantages of reducing car prices – using any case material about the business to help you. You should then weigh up these advantages and disadvantages applied to a car manufacturer and compare them before making a final conclusion.


Justify


As in ‘Recommend to TelCom the best way to expand – taking over a phone manufacturer or a chain of shops selling mobile phones? Justify your answer/recommendation.’


In questions like this you need to consider both options for expansion, giving advantages and disadvantages for both. Finally, you should weigh up the points for and against each option and come to a final decision based on the most important points. For longer questions also justify why the alternative(s) was rejected.


State


As in ‘State two examples of promotion for XYZ company.’ This question only requires two examples to be given and no explanation is required.


Outline


As in ‘Outline two benefits to Jameel of operating his business as a sole trader.’ This is asking you to set out two benefits of operating as a sole trader and how they relate to Jameel and his business.



Finally…


Learning Business Studies should be both rewarding and challenging. We hope that this textbook will help you overcome the challenges of the Cambridge IGCSE® and O Level courses so that you can achieve the success you are seeking. In particular, we want the book to encourage you to develop a real interest in – even a passion for – finding out more of how the world of business really works. Business activity is so crucial to the future wellbeing of us all and it offers great opportunities for all well-motivated students. Success in Cambridge IGCSE® and O Level Business Studies can help you take the first important steps towards playing a leading role in managing and directing business activity in your country. We are confident that this book will fully support you during your course.


Wishing you all the best in your studies,


Karen Borrington


Peter Stimpson
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1 Business activity
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This chapter will explain:





•  the concepts of needs, wants, scarcity and opportunity cost



•  the importance of specialisation



•  the purpose of business activity



•  the concept of adding value and how added value can be increased.
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The economic problem: needs, wants, scarcity and opportunity cost
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Activity 1.1


Make lists of:





a  your needs – those things you think are necessary for living



b  your wants – things you would like to be able to buy and own.





For example, on your needs list you will probably include clean water, and on your wants list you may include a luxury house.
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What do you notice about your two lists? Probably the really important items are on the needs list – water, clothing for warmth and protection, food and some form of housing or shelter. And on your wants list? That will be up to you and your interests and tastes, but you could probably have written a very long list indeed.


Do you already own all of the items on your wants list? If you do, then you must be very lucky and very rich! Most people in the world cannot afford to buy everything they want because our wants are unlimited. In many countries, some people cannot afford to buy the things they need and they are likely to be very poor.


Why are there so many wants and needs that we cannot satisfy? Why are millions of people living in poverty in many countries around the world? Most people will answer these questions by saying, ‘Because there is not enough money.’


Is the real economic problem caused by a shortage of money? An example may help to show you why more money is not the answer to the problem of many people’s wants and needs not being satisfied.
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Case study


The government of a small country is worried about large numbers of people who cannot afford the basic needs of life. Even those citizens with more money are always complaining that the country is not producing enough of the luxuries that they want to buy. The government decides to try to ‘solve’ these problems by printing more bank notes, doubling everyone’s incomes.


Has the government solved the economic problem of the country? Are there now more goods for the people to buy? More houses? More schools? More cars? Improved standard of living of the population?


The answer to all of these questions is ‘No’. Printing more money does not produce more goods and services. It will just lead to prices rising so more goods cannot be afforded – you just pay more for the same amount of goods.
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The economic problem – the real cause


The real cause of the shortage or scarcity of goods and services is that there are not enough factors of production to make all of the goods and services that the population needs and wants.


There are four factors of production:





•  Land – this term is used to cover all of the natural resources provided by nature and includes fields and forests, oil, gas, metals and other mineral resources.



•  Labour – this is the number of people available to make products.



•  Capital – this is the finance, machinery and equipment needed for the manufacture of goods.



•  Enterprise – this is the skill and risk-taking ability of the person who brings the other resources or factors of production together to produce a good or service, for example, the owner of a business. These people are called entrepreneurs.





In any one country, and in the world as a whole, these factors of production are limited in supply. As there is never enough land, labour, capital or enterprise to produce all of the needs and unlimited wants of a whole population, there is an economic problem of scarcity.
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The real cause of the economic problem






Limited resources: the need to choose


We make choices every day. We have to, as we have limited resources but so many wants. We therefore have to decide which wants we will satisfy and which we will not. All choices involve giving something up – this leads to opportunity cost. Should I take a bus to school or use the money for a new pen to write clear Business Studies notes? Do I buy a new pair of trainers or spend the money on a new smartphone?


We do not have the resources to satisfy all our wants, so the next best alternative that we give up becomes our opportunity cost. This problem of ‘what to give up’ exists not only for consumers like us but for governments and businesses too. In making choices we need to consider carefully the opportunity cost to make sure it is not worth more to us than the item we are buying.
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Examples of opportunity cost
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REVISION SUMMARY


The economic problem
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The importance of specialisation: the best use of limited resources


In all societies the factors of production are in limited supply. It is therefore important to use these resources in the most efficient ways possible. The ways in which these resources are used have changed greatly in the last 250 years. Very few products are now made just by the efforts and skills of one worker. Nearly all workers specialise in particular skills and many businesses specialise in one type of product. Specialisation is now very common because:





•  specialised machinery and technologies are now widely available



•  increasing competition means that businesses have to keep costs low



•  most people recognise that higher living standards can result from being specialised.
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Case study


This is how Joe Sharma, a carpenter, went about making a table 250 years ago:
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What do you notice about these methods of production?





•  Joe did everything himself – including the cutting of the timber and the sale and delivery of the finished table.



•  Production was very low – only one table per week.



•  Compare this with typical modern production methods. Two hundred and fifty years later, Jack Sharma owns the family business. This is how production is organised:







[image: ]




[image: ]






Specialisation and the division of labour


Jack Sharma is using the principles of specialisation and division of labour. He is dividing up the making of tables into different jobs and making each worker a specialist at just one task. Division of labour has advantages and disadvantages:






	Advantages

	Disadvantages






	


•  Workers are trained in one task and specialise in this – this increases efficiency and output



•  Less time is wasted moving from one workbench to another



•  Quicker and cheaper to train workers as fewer skills need to be taught





	


•  Workers can become bored doing just one job – efficiency might fall



•  If one worker is absent and no one else can do the job, production might be stopped
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Activity 1.2





a  Using another product, for example, bread or clay pots, explain, with simple illustrations, how division of labour or specialisation could be used to make the product.



b  Explain the possible advantages/disadvantages of using division of labour (or specialisation of labour) to the business you chose.
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The purpose of business activity


We have identified the following issues:





•  People have unlimited wants.



•  The four factors of production – the resources needed to make goods – are in limited supply.



•  Scarcity results from limited resources and unlimited wants.



•  Choice is necessary when resources are scarce. This leads to opportunity cost.



•  Specialisation improves the efficient use of resources.





So far, we have hardly mentioned businesses and yet this is the purpose of this book!


Where does business activity fit into the ideas we have already looked at?


The purpose of all businesses is to combine the factors of production to make products which will satisfy people’s wants. These products can either be goods – physical items such as cars and shoes which we can touch and see – or they can be services, such as insurance, tourism or banking.


Businesses can be small – just one person, for example – or large. Some businesses employ thousands of people with operations in many different countries. Businesses can be privately owned or owned by the state/government. They can be owned by one person or by thousands of shareholders.


Whatever their size and whoever owns them, all businesses have one thing in common – they combine factors of production to make products which satisfy people’s wants.
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Businesses in all sectors of industry produce goods and services by combining factors of production





What would life be like without business activity? In simple, undeveloped economies, businesses do not exist. Everyone attempts to do everything for themselves – they are self-sufficient. With their own plot of land and by their own efforts, such as hunting, they attempt to survive and produce enough for their own needs. This is a very basic existence and living standards are low.
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Study tips


Definitions of the key terms in this book can be found in the left-hand margins.


These definitions will be very useful to you as you study the course so it is important that you learn these by heart.
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By a slow process of specialisation, people began to concentrate on what they were best at. They then traded those goods for others made by people who had different skills. In this way, businesses began to be formed, and trade and exchange of goods expanded. In today’s world, most people specialise by working in one job for a weekly wage. With this money, they are able to purchase a wide range of goods and services produced by many different businesses – specialising in different products.


Business activity therefore:





•  combines scarce factors of production to produce goods and services



•  produces goods and services which are needed to satisfy the needs and wants of the population



•  employs people as workers and pays them wages to allow them to consume products made by other people.






Added value


This is a very important idea. All businesses attempt to add value. If value is not added to the materials and components that a business buys in, then:





•  other costs cannot be paid for



•  no profit will be made.
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Diagram showing value added






Example:





•  The selling price of a newly built house is $100 000.



•  The value of the bought-in bricks, cement, wood and other materials was $15 000.



•  The added value of the building firm was $85 000. This is not all profit – out of this the builder must pay wages and other costs too.
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Key info


Children around the world are playing with more mini LEGO people than there are human beings on the planet. The LEGO Group add value by putting LEGO bricks into themed building sets, such as spaceships or pirate ships. Some sets are also linked to successful movies such as Harry Potter and Star Wars. When The LEGO Movie was released it further strengthened the brand and encouraged consumers to pay a high price for the building sets.
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Why is added value important?


Added value is important because sales revenue is greater than the cost of materials bought in by the business. This means the business:





•  can pay other costs such as labour costs, management expenses and costs including advertising and power



•  may be able to make a profit if these other costs come to a total that is less than the added value.





How could a business increase added value?


There are two main ways in which a business can try to increase its added value:





a  Increase selling price but keep the cost of materials the same. This might be possible if the business tries to create a higher quality image for its product or service. If consumers are convinced by this then they might be prepared to pay higher prices and buy the same quantity as before the price rise. A jewellery shop could employ very experienced and knowledgeable sales staff, decorate the shop to look luxurious and use high-quality packaging. Note though: other costs might increase when trying to create this quality image.



b  Reduce the cost of materials but keep the price the same. A building firm could use cheaper wood, bricks and other materials when constructing a home or shop. If the price charged to customers stays the same then a higher added value will be made. Note though: lower priced materials might reduce the quality of the product. Will customers be prepared to pay the same price for a product that they believe is of lower quality?
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Study tips


Adding value is not easy for many businesses – if it was, every business would be very successful! When some businesses try to increase added value it can lead to serious disadvantages. For example, just increasing the price of the product can lead to lower sales and, perhaps, lower profit.
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Study tips


You should take every chance to apply your answers to the business in the question. A jewellery shop is likely to add value in different ways to a hotel business or a soft drinks manufacturer.
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REVISION SUMMARY


Adding value
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Case study: Rakesh’s bakery


Rakesh owns a small bakery selling bread, cakes and biscuits. His business is just making enough money to survive. His wife, Neeta, had the idea of serving customers tea and coffee at two small tables that could be fitted into the bakery shop. ‘Customers will pay more for each cake and biscuit if we sell them with tea or coffee – just like a little café.’ Rakesh bought some second-hand café equipment and furniture and tried what Neeta had suggested. She was right! Some of his customers not only bought teas and coffees but they paid higher prices for the cakes and biscuits they bought as they were served them on a plate!


Rakesh had increased the value added to the flour, sugar and butter he used to make these cakes and biscuits.
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Activity 1.3


Refer to the case study above.





a  If the best-selling cake in this bakery uses 30 cents’ worth of flour, sugar and butter and Rakesh sells each one for $1, calculate the value added.



b  If customers are prepared to pay $1.50 when this cake is served on a plate at a table within the bakery, what is the new value added per cake?



c  Does the opening of the small café mean that Rakesh must have increased his weekly profit? Explain your answer.
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International business in focus


Division of labour at McDonald’s


The cooking of food in all McDonald’s restaurants is broken down into small, repetitive tasks. These include serving customers, pouring drinks, cooking French fries and cooking burgers. These separate tasks allow workers to become very efficient and skilled in them. All workers are given much training in the tasks that they will become skilled at.


The speed and efficiency of McDonald’s workers means that customers are served very quickly with freshly cooked food. Costs are kept very low and this helps to keep prices low.


McDonald’s and other fast-food restaurants often make great efforts to reduce the high labour turnover in this industry; this means they are trying to reduce the high number of workers that leave the industry each year.




[image: ]




Discussion points





•  Why do you think a large business such as McDonald’s uses specialisation?



•  Think about as many advantages as you can to McDonald’s of using specialisation.



•  If you owned a fast-food restaurant, consider two ways in which you could increase the value added to the food bought in by the restaurant.
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Exam-style questions: Short answer and data response





1  Gowri plans to start up her own business using her savings. She wants to produce fashion clothes for women. She is a very good clothes designer but she does not like stitching clothes together. Two friends have offered to help Gowri. Abha is an experienced material or fabric cutter – she can cut lengths of material or fabric for clothes with very little wastage. Aditi is quick at sewing fabric together.







    a  Define ‘business’.


[2]


    b  Identify two factors of production that Gowri will need for her new business.


[2]


    c  Outline two possible opportunity costs that Gowri may have from her decision to start her own business.


[4]


    d  Explain one advantage and one disadvantage to Gowri’s business of using division of labour in making clothes.


[6]


    e  Do you think that Gowri’s business will be able to sell all of the clothes that it makes? Justify your answer.


[6]








2  Mohammed owns a bakery. He makes bread and cakes. He employs three workers who help him mix the dough for the bread and cakes, put the dough into tins, bake the bread and cakes, and serve customers. Mohammed has calculated that the ‘added value’ of his business is low. His customers complain when he tries to increase his prices. ‘We can buy the same bread and cakes at lower prices,’ they tell him.







    a  Define ‘added value’.


[2]


    b  Identify the opportunity cost to Mohammed of buying a new oven.


[2]


    c  Outline two benefits to Mohammed’s business of all of his workers being able to do all of the jobs in the bakery.


[4]


    d  Explain two ways in which Mohammed could increase the value added of his bakery business.


[6]


    e  A friend told Mohammed, ‘Your business would be more successful if you only served in the shop and let your workers make the bread and cakes.’ Do you agree? Justify your answer.


[6]
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Revision checklist


In this chapter you have learned:





[image: ] the difference between wants and needs



[image: ] why scarcity of resources results in choices and opportunity cost



[image: ] why specialisation is important



[image: ] the purpose and nature of business activity



[image: ] how businesses can try to increase added value.
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NOW – test your understanding with the revision questions in the Student etextbook and the Workbook.
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Definitions to learn


A need is a good or service essential for living.


A want is a good or service which people would like to have, but which is not essential for living. People’s wants are unlimited.


The economic problem – there exist unlimited wants but limited resources to produce the goods and services to satisfy those wants. This creates scarcity.


Factors of production are those resources needed to produce goods or services. There are four factors of production and they are in limited supply.


Scarcity is the lack of sufficient products to fulfil the total wants of the population.


Opportunity cost is the next best alternative given up by choosing another item.


Specialisation occurs when people and businesses concentrate on what they are best at.


Division of labour is when the production process is split up into different tasks and each worker performs one of these tasks. It is a form of specialisation.


Businesses combine factors of production to make products (goods and services) which satisfy people’s wants.


Added value is the difference between the selling price of a product and the cost of bought-in materials and components.
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2 Classification of businesses
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This chapter will explain:





•  the differences between primary, secondary and tertiary production



•  the reasons for the changing importance of business classification, for example, in developed and developing economies



•  the differences between public sector and private sector business enterprises in a mixed economy.
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Stages of economic activity


As you read this book you are probably sitting at a desk or table. Most tables are made of wood. How many different types of businesses might have been involved in converting the wood into a finished table ready to be sold to a final consumer? What stages of production has the wood passed through to arrive at the finished table?


The diagram below shows the most likely stages in the production and sale of a wooden table.
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The stages involved in making and selling a wooden table





You will notice that there are three main stages from the cutting down of the timber to the sale of the completed table. These stages are typical of nearly all production and they are called the levels of economic – or business – activity.


Stage 1 is called the primary stage of production. This stage involves the Earth’s natural resources. Activities in the primary sector of industry include farming, fishing, forestry and the extraction of natural materials, such as oil and copper ore.


Stage 2 is called the secondary stage of production. This stage involves taking the materials and resources provided by the primary sector and converting them into manufactured or processed goods. Activities in the secondary sector of industry include building and construction, aircraft and car manufacturing, computer assembly, bread baking.
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Examples of activities in the different sectors of industry: rice farming in Vietnam, clothes production in China and retailing in Kenya





Stage 3 is called the tertiary stage of production. This stage involves providing services to both consumers and other businesses. Activities in the tertiary sector of industry include transport, banking, retail, insurance, hotels and hairdressing.
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The three types of business activity
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Activity 2.1


Copy this table. Indicate with a tick which sector of industry each business is in.
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Relative importance of economic sectors


Which sector of industry is most important in your country? This depends on what is meant by ‘important’. Usually the three sectors of the economy are compared by:





•  percentage of the country’s total number of workers employed in each sector





or





•  value of output of goods and services and the proportion this is of total national output.





In some countries, primary industries such as farming and mining employ many more people than manufacturing or service industries. These tend to be countries – often called developing countries – where manufacturing industry has only recently been established. As most people still live in rural areas with low incomes, there is little demand for services such as transport, hotels and insurance. The levels of both employment and output in the primary sector in these countries are likely to be higher than in the other two sectors.


In countries which started up manufacturing industries many years ago, the secondary and tertiary sectors are likely to employ many more workers than the primary sector. The level of output in the primary sector is often small compared to the other two sectors. In economically developed countries, it is now common to find that many manufactured goods are bought in from other countries. Most of the workers will be employed in the service sector. The output of the tertiary sector is often higher than the other two sectors combined. Such countries are often called the most developed countries.
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Case study: Comparing the three economic sectors – India and Papua New Guinea


The relative importance of the three economic sectors in India is very different to that in Papua New Guinea. India does not have large reserves of primary products (natural resources), whereas Papua New Guinea is rich in mineral deposits including copper, gold and oil and also has extensive forests covering much of the country producing timber products. Extracting these valuable resources makes a huge contribution to the economy of Papua New Guinea.


India’s textile, steel and car manufacturing industries are rapidly growing, but the secondary sector in Papua New Guinea is small – palm oil processing, plywood production and wood chip production are the most important secondary industries. If Papua New Guinea developed a furniture industry making tables and chairs from the timber extracted from its forests, secondary production could increase.


The tertiary sector is expanding in both countries – tourism is starting to gain importance in Papua New Guinea but it is still in its early stages of development and its main service industries are linked to the transport and export of its minerals. Providing IT services to businesses all over the world is India’s largest service industry.
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Activity 2.2


Refer to the case study above.





a  Explain what ‘tertiary production’ means by using examples from the case study.



b  Explain two reasons why the primary sector is relatively more important to Papua New Guinea than to India.



c  In 2017, it was estimated that 47 per cent of Indians worked in the primary sector – mainly in agriculture. Why was this sector the least important of the three in terms of output?



d  Discuss the likely impact on Papua New Guinea if its copper and gold mines become exhausted (the copper and gold runs out!).
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Changes in sector importance


In the UK and other developed economies there has been a decline in the importance of manufacturing industry – or the secondary sector – since the 1970s. The tertiary sector in the UK now employs well over 75 per cent of all workers. Many workers who lost jobs as factories closed have found it difficult to obtain work in the service industries. The decline in the manufacturing or secondary sector of industry is called de-industrialisation.
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Key info


South Korea is one of the best examples of a country which has experienced changes in the importance of industrial sectors. In the 1950s the economy was dependent on agriculture. By 2017 agriculture and other primary industries accounted for just 4% of GDP, with manufacturing (secondary) responsible for 42% of output. Service industries (tertiary) produced 54% of total output.
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In China and India, the relative importance of the secondary sector has increased since the 1980s, compared to the primary sector. However, in both countries, many of the tertiary sector industries are now expanding more rapidly than those in both the primary and secondary sectors. There are several reasons for changes in the relative importance of the three sectors over time:





•  Sources of some primary products, such as timber, oil and gas, become depleted. This has been true for Somalia with the cutting down of most of its forests.



•  Most developed economies are losing competitiveness in manufacturing to newly industrialised countries such as Brazil, India and China.



•  As a country’s total wealth increases and living standards rise, consumers tend to spend a higher proportion of their incomes on services such as travel and restaurants than on manufactured products produced from primary products.
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Case study: Bangladesh – the importance of economic sectors over time


In 1970, Bangladesh had an economy largely based on agriculture. A high proportion of the population worked in farming, either to produce crops for their own consumption or to sell in local markets. Secondary manufacturing activities were not very important and the tertiary sector was also small as incomes were very low and people had little spare cash to spend on ‘services’.


By 2017, Bangladesh had undergone significant changes. Although 40 per cent of the workforce still works in agriculture, primary production of goods such as jute, tobacco and food has fallen in relative terms. Manufacturing industries – mainly food processing and clothing – have expanded rapidly. Tertiary services such as telecommunications, transport and finance now contribute approximately half of total national output.


Economic sectors in Bangladesh – World Bank estimates of % share of GDP
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Activity 2.3


Refer to the case study above.





a  Explain two possible reasons why the relative importance of primary output has fallen.



b  Would workers who formerly worked in agriculture find it easy to obtain jobs in the secondary or tertiary sectors of industry? Explain your answer.



c  What do you expect to happen to the relative importance of tertiary industries if incomes continue to rise in Bangladesh? Explain your answer.
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Key info


Mexico now has nearly 25 per cent of its labour force employed in manufacturing and it is making a major contribution to the changing economy of the country. Its secondary sector produces over a third of its $2.2 trillion GDP. It is now the USA’s second-largest export market and third-largest source of imports. The main secondary industry is car manufacturing, as it cannot only export to the USA but also to Asia, Australia and New Zealand from ports on the Pacific coast. However, aerospace manufacturing is growing at 20 per cent per year, it is the fifth-largest exporter of medical devices in the world, and its domestic appliances such as refrigerators, washers and TVs make up half of all retail sales of appliances sold in the USA.
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Mixed economy


Nearly every country in the world has a mixed economy with private sector and a public sector:





•  Private sector – businesses not owned by the government. These businesses will make their own decisions about what to produce, how it should be produced and what price should be charged for it. Most businesses in the private sector will aim to make a profit. Even so, there are likely to be some government controls over these decisions and these are explained in later chapters in this book.



•  Public sector – government (or state) owned and controlled businesses and organisations. The government, or other public sector authority, makes decisions about what to produce and how much to charge consumers. Some goods and services are provided free of charge to the consumer, such as state health and education services. The money for these comes not from the user but from the taxpayer. Objectives of private sector and public sector businesses are often different (see Chapter 4).







[image: ]


Study tips


It is useful to remember that different patterns of economic/business activity often exist between ‘low-income’ or ‘high-income’ countries.
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Which business activities are usually in the public sector?


In many countries the government controls the following important industries or activities:





•  health



•  education



•  defence



•  public transport



•  water supply



•  electricity supply.
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Activity 2.4


For each of the examples of key industries or activities listed above, suggest three possible reasons why the government of a country might decide to own and control that industry or service.
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Activity 2.5


Find out whether, in your own country, the government owns and controls the following businesses:





a  railway system



b  local bus services



c  water supply



d  electricity supply



e  TV and radio stations



f  hospitals.
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Mixed economies – recent changes


In recent years, many governments have changed the balance between the private sector and the public sector in their economies. They have done this by selling some public sector businesses – owned and controlled by government – to private sector businesses. This is called privatisation. In many European and Asian countries the water supply, electricity supply and public transport systems have been privatised.


Why have governments done this? It is often claimed that private sector businesses are more efficient than public sector businesses. This might be because their main objective is profit and therefore costs must be controlled. Also, private sector owners might invest more capital in the business than the government can afford. Competition between private sector businesses can help to improve product quality.


However, a business in the private sector might make more workers unemployed than a public sector business in order to cut costs. A private sector business is also less likely to focus on social objectives.


Changes in the balance between the private sector and the public sector are likely to continue in many mixed economies.
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Study tips


The advantages and disadvantages of the private sector are useful to remember.
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Activity 2.6


Your government is considering the privatisation of your country’s postal service. You decide to write to the government minister in charge, explaining your views on this matter and stating your opinion. Your letter should contain:





•  an explanation of the difference between private sector businesses and public sector businesses



•  the possible benefits of the postal service being in the private sector



•  the possible disadvantages of the postal service being in the private sector



•  your recommendation to the minister on whether to keep the postal service in the public sector or not.
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Study tips


Do not confuse ‘privatisation’ with ‘converting a sole trader into a private limited company’. Sole traders and private limited companies are both examples of private sector businesses (see Chapter 4).
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REVISION SUMMARY


Sectors of industry
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International business in focus


Tourism in Mauritius


Mauritius is a small island in the Indian Ocean with a land area of just 2000 km2. The Mauritian economy is dominated by the tertiary sector. In 2017, tourism, finance and other services accounted for 74 per cent of total national output (gross domestic product). In contrast, the secondary sector accounted for 22 per cent and primary industries – mainly sugar production – just 4 per cent. The government is planning for 2 million foreign visitors and the number of tourists is increasing by 9 per cent per year. These tourists spend a great deal of money on food, drink, travel and holiday gifts.


Air Mauritius is one of the businesses that has benefited greatly from the expansion of tourism in the country. The airline is partly owned by private owners and the Mauritian Government. It has won the ‘Indian Ocean’s Leading Airline’ prize ten times in recent years.


Air Mauritius not only has an extensive network of air routes but it also offers services to other airlines operating in the region and owns holiday companies such as Mauritian Holidays UK. There are hundreds of hotels and guesthouses in Mauritius and these employ many local workers. Some of the largest hotel groups in the world operate in Mauritius, such as Radisson and Le Meridien.




[image: ]




Discussion points





•  Why do you think the primary sector of the Mauritian economy is relatively small?



•  Explain three ways in which tertiary sector industries contribute to the Mauritian economy.



•  Do you think that increasing numbers of tourists will bring only benefits to Mauritius?



•  Why do you think the Mauritian Government still owns a part of Air Mauritius?
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Exam-style questions: Short answer and data response





1  Ade’s Engineering Company (AEC) makes parts for cars and trucks. These are sold to car manufacturers in many countries. The parts include metal brake components and rubber seals to fit around windows. AEC operates in Country X, which, until a few years ago, had an economy dominated by agriculture and coal mining. Over the last 20 years the relative importance of the primary sector has declined. To be successful AEC requires natural resources to make car parts and services provided by other businesses. Consumer incomes are rising rapidly in Country X.







    a  Define ‘primary sector’.


[2]


    b  Identify two examples of services that a business such as AEC requires.


[2]


    c  Outline two reasons why a business such as AEC could not be successful without other firms providing natural resources.


[4]


    d  Explain two likely reasons why the relative importance of the primary sector of Country X’s economy has declined.


[6]


    e  A government minister in Country X recently said: ‘The secondary sector of industry will always be more important than the tertiary sector to our economy.’ Do you agree with this view? Justify your answer.


[6]








2  The government of Country Y owns and controls many businesses. ‘The public sector always produces goods and services more efficiently than privately owned businesses,’ a government minister recently said. Other ministers disagree and want to privatise many state-owned businesses. The private sector businesses in Country Y produce 55 per cent of total output – mainly in services such as transport, tourism and finance. The secondary sector of industry produces 35 per cent of total output.







    a  Define ‘public sector’.


[2]


    b  Identify two industries in the secondary sector.


[2]


    c  Outline two reasons why the tertiary sector of industry is becoming more important in most economies.


[4]


    d  Explain two possible reasons why some ministers want to privatise some businesses in the public sector.


[6]


    e  Do you agree with the government minister’s view that: ‘The public sector always produces goods and services more efficiently than privately owned businesses’? Justify your answer.


[6]
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Revision checklist


In this chapter you have learned:





[image: ] the differences between the three sectors of economic/business activity



[image: ] the reasons why these sectors vary in importance between countries



[image: ] the reasons why these sectors vary in importance over time



[image: ] the differences between the private sector and public sector in mixed economies.
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NOW – test your understanding with the revision questions in the Student etextbook and the Workbook.
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Definitions to learn


The primary sector of industry extracts and uses the natural resources of Earth to produce raw materials used by other businesses.


The secondary sector of industry manufactures goods using the raw materials provided by the primary sector.


The tertiary sector of industry provides services to consumers and the other sectors of industry.


De-industrialisation occurs when there is a decline in the importance of the secondary, manufacturing sector of industry in a country.


A mixed economy has both a private sector and a public (state) sector.


Capital is the money invested into a business by the owners.
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3 Enterprise, business growth and size
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This chapter will explain:





•  the benefits and drawbacks of being an entrepreneur



•  the key characteristics of successful entrepreneurs



•  the contents of a business plan and how plans assist entrepreneurs



•  why and how governments support business start-ups



•  the methods of measuring business size



•  the limitations of the methods of measuring business size



•  why the owners of a business may want to expand the business



•  different ways in which businesses can grow



•  the problems linked to business growth and how they might be overcome



•  why some businesses remain small



•  the causes of business failure



•  why new businesses are at a greater risk of failing.
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Enterprise and entrepreneurship


What will you do when you leave school or college? Maybe you will go to university or get a job. Some of you may decide to take the risk of setting up your own business – this could be full- or part-time. If you do decide to do this then you will become an entrepreneur!


What are the benefits – and possible disadvantages – of starting up your own business?






	Benefits of being an entrepreneur

	Disadvantages of being an entrepreneur






	


•  independence – able to choose how to use time and money



•  able to put own ideas into practice



•  may become famous and successful if the business grows



•  may be profitable and the income might be higher than working as an employee for another business



•  able to make use of personal interests and skills





	


•  risk – many new entrepreneurs’ businesses fail, especially if there is poor planning



•  capital – entrepreneurs have to put their own money into the business and, possibly, find other sources of capital



•  lack of knowledge and experience in starting and operating a business



•  opportunity cost – lost income from not being an employee of another business











For many successful entrepreneurs, starting up their own business has led to great wealth and fame. How many of these business leaders have you heard of? They all started out as entrepreneurs with their own business idea.
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Study tips


Think about why successful entrepreneurs are important to the country they are based in. You should be able to explain why governments want to encourage more entrepreneurs to set up in business.
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	Entrepreneur

	Nationality

	Main business interests






	Richard Branson

	UK

	Virgin group of companies including airline, mobile phone and train services






	Dhirubhai Ambani

	India

	Reliance group of companies including chemicals, IT and retailing






	Pan Shiyi

	China

	Property






	Carlos Slim

	Mexico

	Telecommunications






	Mark Zuckerberg

	US

	Social networking site Facebook






	Jerry Wang

	Taiwan/US

	Yahoo






	Vera Wang

	US

	Fashion designer
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Mark Zuckerberg
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Sir Richard Branson
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Vera Wang
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Jerry Wang
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Case study: ‘Believe in Your Ideas!’ – an entrepreneur’s success story
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Justina Kavale is a young entrepreneur who has found a new passion in soaps and cosmetics and turned it into a success story. She recently started a small business in Namibia that will focus on manufacturing soaps, detergents and cosmetics. Running her business part-time, Justina hopes to be able to eventually focus on growing her business and leaving her regular nine-to-five job. Her dream is to become a full-time entrepreneur and she is on her way to business success!


‘I wanted to offer a service or product that helps in meeting a basic need. I also wanted to be unique in a way, so I avoided areas like catering, décor, entertainment, etc. I really aspired to create a business where I focus on making my own product and not buying and re-selling. Eventually I want to be able to offer employment opportunities to others and make a difference in our economy.


‘I just think the time has come to have Namibian-made products as I think we heavily rely on imports and have very few products made locally. I thought soaps and cosmetics have not really been explored in Namibia as I know of less than four companies that do soaps in Namibia. It is a market not really explored as almost all big retail shops have soaps from other countries.’


Source: https://africanentrepreneurshipaward.com/entrepreneur-success-story-in-namibia
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Characteristics of successful entrepreneurs


Would everyone make a good entrepreneur? Probably not – some people do not like risk or working independently – they might prefer to be an employee of a large business instead.









	Characteristics of successful entrepreneurs

	Reasons why important






	Hard working

	Long hours and short holidays are typical for many entrepreneurs to make their business successful






	Risk taker

	Making decisions to produce goods or services that people might buy is potentially risky






	Creative

	A new business needs new ideas – about products, services, ways of attracting customers – to make it different from existing firms






	Optimistic

	Looking forward to a better future is essential – if you think only of failure, you will fail!






	Self-confident

	Being self-confident is necessary to convince other people of your skills and to convince banks, other lenders and customers that your business is going to be successful






	Innovative

	Being able to put new ideas into practice in interesting and different ways is also important






	Independent

	Entrepreneurs will often have to work on their own before they can afford to employ others. Entrepreneurs must be well-motivated and be able to work without any help






	Effective communicator

	Talking clearly and confidently to banks, other lenders, customers and government agencies about the new business will raise the profile of the new business
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REVISION SUMMARY


Entrepreneurs
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Contents of a business plan and how business plans assist entrepreneurs


A bank will almost certainly ask an entrepreneur for a business plan before agreeing to a loan or overdraft to help finance the new business.


By completing a business plan (most banks are able to give business owners a ready-printed form to fill out) the entrepreneur is forced to think ahead and plan carefully for the first few years. The entrepreneur will have to consider the following:





•  What products or services do I intend to provide and which consumers am I ‘aiming at’?



•  What will be my main costs and will enough products be sold to pay for them?



•  Where will the firm be located?



•  What machinery and how many people will be required in the business?
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Key info


The number of millionaires in China is over 1.5 million. Most of these are successful entrepreneurs. There has been a new start-up boom by Chinese entrepreneurs who have studied abroad and returned to China, people who have quit their jobs to start their own businesses, migrant workers who have gone back to their hometown and started their own business, and university students. Over 10 000 new businesses start up every day, which is about seven new businesses every minute.
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Every business plan might be different, but generally business plans contain similar headings. The contents of a business plan will usually include the following:





1  Description of the business


Provides a brief history and summary of the business, and the objectives of the business.



2  Products and services


Describes what the business sells or delivers, and strategy for continuing or developing products/services in the future to remain competitive and grow the business. This section may also include full details of the product and how it is to be manufactured and distributed.



3  The market


Describes the market the business is targeting. The description should include:





•  total market size



•  predicted market growth



•  target market



•  analysis of competitors



•  predicted changes in the market in the future



•  forecast sales revenue from the product.





There should also be a marketing strategy (which is considered in Chapter 17). Market research data should also be included.



4  Business location and how products will reach customers


Describes the physical location if applicable, internet sales or mail order. Also describes how the firm delivers products and services to customers.



5  Organisation structure and management


Describes the organisational structure, management and details of employees required. It usually includes the number and level of skills required for the employees.



6  Financial information


Includes:





•  projected future financial accounting statements for several years or more into the future; these should include income statements and statements of financial position



•  sources of capital, for example, owners’ capital, revenue, bank loans and any other funding sources



•  predicted costs – fixed costs and variable costs



•  forecast cash flow and working capital



•  projections of profitability and liquidity ratios.






7  Business strategy


Explains how the business intends to satisfy customer needs and gain brand loyalty. A summary should be included to bring together all the points from above that should demonstrate the business will be successful.





Without this detailed plan, the bank will be reluctant to lend money to the business. This is because the owners of the new business cannot show that they have thought seriously about the future and planned for the challenges that they will certainly meet. Even with a detailed business plan, the bank might not offer a loan if the bank manager believes that the plan is not well completed (for example, poorly forecasted cash flow).


An example of a business plan is shown on page 24. It was completed by two entrepreneurs planning to open a takeaway pizza restaurant.
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REVISION SUMMARY


Business plans
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Study tips


You need to know what the main parts of a business plan are and be able to explain why a particular business might benefit from developing such a plan.
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Case study: A business plan for Pizza Place Ltd






	Name of business

	Pizza Place Ltd






	Type of organisation

	Private limited company






	Business aim

	To provide a high-class takeaway pizza service including home delivery






	Product

	High-quality home-cooked pizzas






	Price

	Average price of $8 with $2 delivery charge






	Market aimed for

	Young people and families






	Market research undertaken and the results

	Research in the area conducted using questionnaires


Also, research into national trends in takeaway sales and local competitors


Results of all research in the appendix to this plan






	Human Resources plan

	The two business owners to be the only workers to be employed initially






	Details of business owners

	Peter Yang – chef of 15 years’ experience


Sabrina Hsui – deputy manager of a restaurant for three years






	Production details and business costs

	Main suppliers – P&P Wholesalers


Fixed costs of business – $50 000 per year


Variable costs – approximately $2 per unit sold






	Location of business

	Site in shopping street (Brunei Avenue) just away from the town centre


Leasehold site (10 years)






	Main equipment required

	Second-hand kitchen equipment – $6000


Second-hand motorbike – $3000






	Forecast profit

	See financial appendix to this plan


Summary: In the first year of operations the total costs are forecast to be $75 000 with revenue of $105 000


Predicted profit = $30 000


Level of output to break even – 10 000 units per year






	Cash flow

	See financial appendix to this plan


Due to the high set-up and promotion costs there will be negative cash flow in the first year






	Finance

	$10 000 invested by each of the owners


Request to bank for a further $15 000 plus an overdraft arrangement of $6000 per month
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Activity 3.1


Read the business plan for Pizza Place Ltd above. Explain why, if you were a bank manager reading this plan, each of the following would be important to you before you gave the entrepreneurs a loan:





•  market research results



•  experience of business owners



•  forecast profit.
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Activity 3.2


Draw up another business plan. It should be based on your own idea for a business that is operated within your school or college (for example, a stationery shop, confectionery store or cake shop).
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Activity 3.3


Research the background and business activities of two well-known entrepreneurs in your own country. Identify the personal characteristics that you believe each entrepreneur has which have helped them to succeed. Write a brief report on each one and be prepared to present your reports to the rest of your class.
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Why governments support business start-ups


Most governments offer support to entrepreneurs. This encourages them to set up new businesses. There are several reasons why this support is given:





•  To reduce unemployment – new businesses will often create jobs to help reduce unemployment.



•  To increase competition – new businesses give consumers more choice and compete with already established businesses.



•  To increase output – the economy benefits from increased output of goods and services.



•  To benefit society – entrepreneurs may create social enterprises which offer benefits to society other than jobs and profit (for example, supporting disadvantaged groups in society).



•  Can grow further – all large businesses were small once! By supporting today’s new firms the government may be helping some firms that grow to become very large and important in the future.





How governments support business start-ups






	Business start-ups need:

	Governments often give support by:






	Business idea and help

	Organising training for entrepreneurs that gives advice, and support sessions offered by experienced business people






	Premises

	‘Enterprise zones’, which provide low-cost premises to start-up businesses






	Finance

	Loans for small businesses at low interest rates


Grants, if businesses start up in depressed areas of high unemployment






	Labour

	Grants to small businesses to train employees and help increase their productivity






	Research

	Encouraging universities to make their research facilities available to new business entrepreneurs







Methods of measuring business size and limitations of these methods


Businesses can vary greatly in terms of size. On the one hand, firms can be owned and run by a single individual. At the other extreme, some businesses employ hundreds of thousands of workers all over the world. Some firms produce output worth hundreds of dollars a year, while the biggest businesses sell goods valued at billions of dollars each year.


Who would find it useful to compare the size of businesses?





•  Investors – before deciding which business to put their savings into.



•  Governments – often there are different tax rates for small and large businesses.



•  Competitors – to compare their size and importance with other firms.



•  Workers – to have some idea of how many people they might be working with.



•  Banks – to see how important a loan to the business is compared to its overall size.





Business size can be measured in a number of ways. The most common are:





•  number of people employed



•  value of output



•  value of sales



•  value of capital employed.





They each have advantages and limitations.


Number of people employed


This method is easy to calculate and compare with other businesses.


Limitations: Some firms use production methods which employ very few people but produce high output levels. This is true for automated factories which use the latest computer-controlled equipment. These firms are called capital-intensive firms – they use a great deal of capital (high-cost) equipment to produce their output. Therefore, a company with high output levels could employ fewer people than a business which produced less output. Another problem is: should two part-time workers, who work half of a working week each, be counted as one employee – or two?


Value of output


Calculating the value of output is a common way of comparing business size in the same industry – especially in manufacturing industries.


Limitations: A high level of output does not mean that a business is large when using the other methods of measurement. A firm employing few people might produce several very expensive computers each year. This might give higher output figures than a firm selling cheaper products but employing more workers. The value of output in any time period might not be the same as the value of sales if some goods are not sold.


Value of sales


This is often used when comparing the size of retailing businesses – especially retailers selling similar products (for example, food supermarkets).


Limitations: It could be misleading to use this measure when comparing the size of businesses that sell very different products (for example, a market stall selling sweets and a retailer of luxury handbags or perfumes).



Value of capital employed


This means the total value of capital invested into the business.


Limitations: This has a similar problem to that of the ‘number of people employed’ measure. A company employing many workers may use labour-intensive methods of production. These give low output levels and use little capital equipment.


There is no perfect way of comparing the size of businesses. It is quite common to use more than one method and to compare the results obtained.
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A capital-intensive and a labour-intensive business
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Activity 3.4: Comparing business size


You are employed by Company A, which makes motorcycles. You have been asked to write a brief report to the Managing Director comparing the size of your company with three others in the same industry. Use the following information in your report. State the benefits and drawbacks of each of the ways of comparing business size.




[image: ]




[image: ]







[image: ]


REVISION SUMMARY


Comparing business size
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Why the owners of a business may want to expand the business


The owners of businesses often want their business to expand. What advantages will a business and its owners gain from expansion? Here are some likely benefits:





•  The possibility of higher profits for the owners.



•  More status and prestige for the owners and managers – higher salaries are often paid to managers who control bigger businesses.



•  Lower average costs (explained in Chapter 19, page 231, Economies of scale).



•  Larger share of its market – the proportion of total market sales it makes is greater. This gives a business more influence when dealing with suppliers and distributors, and consumers are often attracted to the ‘big names’ in an industry.





Different ways in which businesses can grow


Businesses can expand in two main ways:





•  By internal growth, for example, a restaurant owner could open other restaurants in other towns – this growth is often paid for by profits from the existing business. This type of growth is often quite slow but easier to manage than external growth.



•  By external growth, involving a takeover or a merger with another business.





Three examples of external growth are shown below.





•  Horizontal merger (or horizontal integration) – when one firm merges with or takes over another one in the same industry at the same stage of production.
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An example of horizontal integration








•  Vertical merger (or vertical integration) – when one business merges with or takes over another one in the same industry but at a different stage of production. Vertical integration can be forward – when a business integrates with another business which is at a later stage of production (closer to the consumer) – or backward – when a business integrates with another business at an earlier stage of production (closer to the raw material supplies, in the case of a manufacturing business).
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Backward and forward integration








•  Conglomerate merger (or conglomerate integration) – when one business merges with or takes over a business in a completely different industry. This is also known as diversification.
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A business building houses merges with a business making clothes





You should notice that the three examples of integration are very different, even though they all involve two businesses joining together.


The likely benefits of integration


Horizontal integration





•  The merger reduces the number of competitors in the industry.



•  There are opportunities for economies of scale (see Chapter 19).



•  The combined business will have a bigger share of the total market than either business before the integration.






Forward vertical integration


For example, a car manufacturer takes over a car retailing business.





•  The merger gives an assured outlet for its product.



•  The profit margin made by the retailer is absorbed by the expanded business.



•  The retailer could be prevented from selling competing models of car.



•  Information about consumer needs and preferences can now be obtained directly by the manufacturer.






Backward vertical integration


For example, a car manufacturer takes over a business supplying car body panels.





•  The merger gives an assured supply of important components.



•  The profit margin of the supplier is absorbed by the expanded business.



•  The supplier could be prevented from supplying other manufacturers.



•  Costs of components and supplies for the manufacturer could be controlled.






Conglomerate integration





•  The business now has activities in more than one industry. This means that the business has diversified its activities and this will spread the risks taken by the business. For example, suppose that a newspaper business took over a social networking company. If sales of newspapers fell due to changing consumer demand, sales from advertising on social network sites could be rising at the same time due to increased interest in this form of communication.



•  There might be a transfer of ideas between the different sections of the business even though they operate in different industries. For example, an insurance company buying an advertising agency could benefit from better promotion of its insurance activities as a result of the agency’s new ideas.
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Activity 3.5


Identify the form of business growth which is used in each of these situations.





a  A garage agrees to merge with another garage.



b  A bicycle retailer expands by buying a bicycle shop in another town.



c  A fruit juice business buys a fruit farm.



d  A business making electrical goods agrees to join with a business with retail shops specialising in electrical goods.



e  A mining company takes over a company supplying mining equipment.



f  A construction company buys a holiday company.
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Activity 3.6


In each of the cases in Activity 3.5, explain the likely reason(s) for the expansion.
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Hsu Fu Chi International produce
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Case study: Nestlé takeover of large Chinese sweet maker


Nestlé is the largest food and confectionery manufacturer in the world. The company made the decision to take over Hsu Fu Chi International (based in Guandong, China). This Chinese company makes sweets and snacks. The takeover cost US$1.7 billion. It will now be easier for Nestlé to sell its products in China. There should also be cost savings from the takeover. Some consumers are worried that there might be less choice of sweets and snacks than before the takeover. Also, perhaps Nestlé might increase prices as there will be less competition in the sweet and snack market.
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Activity 3.7


Read the case study above.





a  Is this takeover an example of horizontal or vertical integration? Explain your answer.



b  Explain two possible reasons why Nestlé took over the Hsu Fu Chi company.



c  Do you think consumers in China will benefit from this takeover? Explain your answer.
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REVISION SUMMARY


How businesses grow
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Problems linked to business growth and how these might be overcome


Not all business expansion leads to success. There are several reasons why business expansion can fail to increase profit or achieve the other objectives set by managers.






	Problem resulting from expansion

	Possible ways to overcome problem






	Larger business is difficult to control (see also Diseconomies of scale, Chapter 19)

	Operate the business in small units – this is a form of decentralisation






	Larger business leads to poor communication (see Chapter 9)

	Operate the business in smaller units


Use latest IT equipment and telecommunications – but even these can cause problems






	Expansion costs so much that business is short of finance

	Expand more slowly – use profits from slowly expanding business to pay for further growth


Ensure sufficient long-term finance is available (see Chapter 22)






	Integrating with another business is more difficult than expected (for example, different management styles or ‘ways of doing things’)

	Introducing a different style of management requires good communication with the workforce – they will need to understand the reasons for the change








Why some businesses remain small


Not all businesses grow. Some stay small, employing few people and using relatively little capital. There are several reasons why many businesses remain small, including:





•  the type of industry the business operates in



•  the market size



•  the owners’ objectives.





The type of industry the business operates in


Here are some examples of industries where most businesses remain small: hairdressing, car repairs, window cleaning, convenience stores, plumbers, catering. Businesses in these industries offer personal services or specialised products. If they were to grow too large, they would find it difficult to offer the close and personal service demanded by consumers. In these industries, it is often very easy for new businesses to be set up and this creates new competition. This helps to keep existing businesses relatively small.


Market size


If the market – that is, the total number of customers – is small, the businesses are likely to remain small. This is true for businesses, such as shops, which operate in rural areas far away from cities. It is also why businesses which produce goods or services of a specialised kind, which appeal only to a limited number of consumers, such as very luxurious cars or expensive fashion clothing, remain small.


Owners’ objectives


Some business owners prefer to keep their business small. They could be more interested in keeping control of a small business, knowing all their staff and customers, than running a much larger business. Owners sometimes wish to avoid the stress and worry of running a large business.
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Key info


There were 5.5 million private sector businesses in the UK in 2016. Small businesses accounted for 99.3 per cent of all these private sector businesses. Total employment in these businesses was 15.7 million, which is 60 per cent of all private sector employment in the UK. How many small businesses are there in your country? A small business here is referring to one with fewer than 250 employees.
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Activity 3.8


In groups, visit or research the central area in your nearest town or city. List the main businesses in this area. Which of these are large businesses and which are small businesses? You may be able to identify this by whether they are part of a chain of shops or businesses or single individual businesses. What products or services do the small businesses offer? Can you conclude what makes these businesses small?
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Causes of business failure


Not all businesses are successful. The rate of failure of newly formed businesses is high – in some countries, over 50 per cent close within five years of being set up. Even old-established businesses can close down because they make losses or run out of cash. The main reasons why some businesses fail include the following:





•  Lack of management skills – this is a common cause of new business failures. Lack of experience can lead to bad decisions, such as locating the business in an area with high costs but low demand. Family businesses can fail because the sons and daughters of the founders of a business do not necessarily make good managers – and they might be reluctant to recruit professional managers.



•  Changes in the business environment – failure to plan for change is a feature in many of the later chapters. This adds to the risk and uncertainty of operating a business. New technology, powerful new competitors and major economic changes are just some of the factors that can lead to business failures if they are not responded to effectively.



•  Liquidity problems or poor financial management – shortage of cash (lack of liquidity) means that workers, suppliers, landlords and government cannot be paid what they are owed. Failure to plan or forecast cash flows can lead to this problem and is a major cause of businesses of all sizes failing.



•  Over-expansion – as was seen above (page 31), when a business expands too quickly it can lead to big problems of management and finance. If these are not solved, the difficulties can lead to the whole business closing down.





Why new businesses are at greater risk of failing


Many new businesses fail due to lack of finance and other resources, poor planning and inadequate research. In addition, the owner of a new business may lack the experience and decision-making skills of managers who work for larger businesses. This means that new businesses are nearly always more at risk of failing than existing, well-established businesses.
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Activity 3.9


Using the internet, research one business you know that has stopped operating or gone bankrupt. Try to find out why it failed. Share your findings with the rest of the class.


[image: ]







[image: ]


International business in focus


Tata grows through takeovers


The Tata group is one of the largest companies in Asia, measured by value of output. It is a conglomerate as it operates in many industries, including electricity, steel, cars, chemicals, hotels and – tea!


Much of Tata’s growth has resulted from takeovers of other businesses. For example, it bought out Daewoo’s truck division in South Korea and Jaguar Land Rover in the UK. Tata car making uses many products, such as steel and plastics, produced by other Tata factories.


Each division of the vast Tata empire is given much independence in how it is managed – this means more decisions are not taken centrally at head office.


The success of Tata’s car division is in great contrast to SAAB, the Swedish car maker. This business failed and stopped making cars. Its new models were too expensive and did not meet car customers’ changing needs – and the business simply ran out of cash.


Discussion points





•  What are some of the benefits to Tata of being a ‘conglomerate’?



•  Why do you think Tata’s managers have used takeovers as a method of growth?



•  If the Tata car division was to take over a chain of garages selling cars, what form of integration would this be? Do you think this would be a good idea?
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Tata’s cars
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Exam-style questions: Short answer and data response





1  Sabrina was bored with her job in a clothing factory. Her main passion was fashion and she had always been good at selling since helping her father on his market stall. She encouraged her parents and some friends to invest in her idea for opening a shop selling good quality women’s clothes. Sabrina, as the entrepreneur behind the idea, was prepared to risk her own savings too. She had some exciting ideas for the shop layout and presentation of clothes.







    a  Define ‘entrepreneur’.


[2]


    b  Identify two benefits to Sabrina of starting her own business.


[2]


    c  Outline two characteristics that Sabrina seems to have that might lead to the success of her business.


[4]


    d  Explain two benefits to Sabrina of keeping her business small.


[6]


    e  ‘I think I should draw up a business plan before I start,’ said Sabrina to a friend. ‘I think it would be best if you set the business up now – you don’t need a plan as the shop will be so small,’ said her friend. Which view do you agree with? Justify your answer.


[6]








2  TelCom owns a phone network and provides phone network services to many consumers. The business does not manufacture phones and it does not own retail stores selling them. Senior managers at TelCom are considering a takeover of either a phone manufacturer or a chain of phone shops. TelCom employs 4000 workers and, last year, recorded total sales of $300 million. In contrast, the largest manufacturer of mobile phones, PhonTec, has 450 workers and recorded total sales last year of $1200 million.







    a  Define ‘takeover’.


[2]


    b  Identify two other ways, apart from takeovers, that a business might grow.


[2]


    c  Outline two reasons why external groups would be interested in measuring the size of businesses such as TelCom.


[4]


    d  Explain two possible reasons why senior managers at TelCom want to expand the business.


[6]


    e  How should TelCom expand – taking over a phone manufacturer or a chain of shops selling mobile phones? Justify your answer.


[6]
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Revision checklist


In this chapter you have learned:





[image: ] what an entrepreneur is and what characteristics successful entrepreneurs have



[image: ] the needs of a new business



[image: ] the importance of a business plan



[image: ] the support business start-ups get from government



[image: ] how size of businesses is measured and the limitations of these methods



[image: ] the different ways in which a business can grow and why this is desirable



[image: ] possible problems resulting from business growth



[image: ] reasons why some businesses remain small and why some businesses fail.
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NOW – test your understanding with the revision questions in the Student etextbook and the Workbook.
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Definitions to learn


Entrepreneur is a person who organises, operates and takes the risk for a new business venture.


A business plan is a document containing the business objectives and important details about the operations, finance and owners of the new business.


Capital employed is the total value of capital used in the business.


Internal growth occurs when a business expands its existing operations.


External growth is when a business takes over or merges with another business. It is often called integration as one business is integrated into another one.


A takeover or acquisition is when one business buys out the owners of another business, which then becomes part of the ‘predator’ business (the business which has taken it over).


A merger is when the owners of two businesses agree to join their businesses together to make one business.


Horizontal integration is when one business merges with or takes over another one in the same industry at the same stage of production.


Vertical integration is when one business merges with or takes over another one in the same industry but at a different stage of production. Vertical integration can be forward or backward.


Conglomerate integration is when one business merges with or takes over a business in a completely different industry. This is also known as diversification.
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4 Types of business organisation
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This chapter will explain:





•  the main features of different forms of business organisation: sole traders, partnerships, private and public limited companies, franchises and joint ventures



•  the advantages and disadvantages of each of these forms of business organisation



•  differences between unincorporated businesses and limited companies



•  the concepts of risk, ownership and limited liability



•  how appropriate each of these forms is in different circumstances



•  business organisations in the public sector.
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Business organisations: the private sector


There are several main forms of business organisation in the private sector. These are:





•  sole traders



•  partnerships



•  private limited companies



•  public limited companies



•  franchises



•  joint ventures.





Sole traders


Sole trader is the most common form of business organisation. It is a business owned and operated by just one person – the owner is the sole proprietor. One of the reasons it is such a common form of organisation is because there are so few legal requirements to set it up. There are only a few legal regulations which must be followed:





•  The owner must register with, and send annual accounts to, the Government Tax Office.



•  The name of the business is significant. In some countries the name must be registered with the Registrar of Business Names. In other countries, such as the UK, it is sufficient for the owner to put the business name on all of the business’s documents and to put a notice in the main office stating who owns the business.



•  In some industries, the sole trader must observe laws which apply to all businesses in that industry. These include health and safety laws and obtaining a licence, for example, to sell alcohol or operate a taxi.
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